0]

d
dsqrt{d

5 [pb,GeV ]

=
o
w

=
o
N

(IR
o

Ratio to ATLAS

0.5

et b bornm

1 III—III|

0 10
sqgrt{d_0} [GeV]

8000 GeV pp Z (Drell-Yan)
_I T TTI | I I T T TTI | I I T T TTIT | I I T T ;l 9
= 35
- Splitting scale\/ dy (71 < m <111 GeV) = S

>

= =N
— A
- JuuEEEy -9
| m |
= Hm
— - E
~ =
- i
—— — 6‘
— =M
— o<
— -1 M
L o
o

(9]

= =
= m  ATLAS =E
— —— Pythia 8.308 default %
__ ---&-- Pythia 8.308 default-CD —5
= ----- Pythia 8.308 default-DL 3c
----- A Pythia 8.308 default-MBR 18

)

=0

o

(&)

S

N

3



	Contents
	Page 1


